
(1)	Let ƒ be the function graphed below on the interval  [–2, 3.5].
		[image: ]


(a)	Where is ƒ discontinuous on the interval [–2, 3.5]?



(b)	Do the hypotheses of the IVT apply on [–2, 3.5]?  Explain.



(c)	Do the conclusions of the IVT hold on [–2, 3.5]?  Explain.




(d)	Do the hypotheses of the IVT apply on [–2, 1]?  Explain.



(e)	Do the conclusions of the IVT hold on [–2, 1]?  Explain.



(f)	Do the hypotheses of the IVT apply on [–2, 0]?  Explain.



(g)	Do the conclusions of the IVT hold on [–2, 0]?  Explain.
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(2)	Sketch the graph of a function with all of the following characteristics:
· ƒ(0) = 3
· ƒ decreases on (0, 2)
· ƒ is concave up on (0, 6)
· ƒ(6) is not defined
· 

· 







(3)	What, if anything, does the IVT say about the following?  Explain.  (OZ)
(a)	A week ago, there were 23 people in the class, but now there are 21 people.






(b)	I was 23 miles from home two hours ago, and now I am 2 miles from home.







[bookmark: _GoBack](4)	Use the IVT to prove this fixed point theorem:  If ƒ is continuous on [0, 1] and has a range contained in [0, 1], then ƒ has a fixed point – that is, an input x for while ƒ(x) = x.  (Hint:  Consider g(x) = ƒ(x) – x.)  (OZ, 2nd , P.280)
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